Score: [0

input O OO0 “score.in”

output U000

0000000 score.c/score.cpp/Score.java
0000 50 /000

oogoJolgooooooooobooooooobooobo wobooooobonobobbooOonO
oooJolobooobooboboobobobobobobobobooboboooooboonDo
goooo
nO00000000000b0b000booogobboooobobooonobobooobon
gooboooobbbooooboboboooonboo

Input. 000000 score.in 0 10000000000 n (1 <n <100000)00000
00000 n00000000000i4+1(1<:<n)00000000:000000 s
(0<s<100)00000000

Output. 000000000000 0O0O000 00000000 (1s¢<n)000O0O0O
gbooooogoboobod

O
score.in O OO0O

6 1
100
90
80
90
100
65

D = W 01 W
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Factorial: O J

input 0000 “factorial.in”

output OO0

0000000 factorial.c/factorial.cpp/Factorial.java
o000 050 /000

00 n(2<n<100000000) 000000. mO0O00 n000000000O0OOOOO0O
OmbO0000oobooboooo.gbb, oot mnO000, muoooob 100 nOodO
gboobooooon.

Input. J0OD00O0OO0O factorial.in UODOOOO. DODOOODODO 100000,00 n
goobodg.

Output. 0 O000O0O0O0O0OOODOOODOOODOOOD. DO mODODOODOD 100D00O0ODO.

01
factorial.in 0O OO0
10 5
a2
factorial.in 0O OO0
12 4
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Mall: DOOOO0OOOOO

input 0000 “mall.in”

output 0000

0000000 mall.c/mall.cpp/Mall.java
0000 60 /000

goboooboooooboooooIlorzeordoooboobooobooooooooooDn
gbouodgboboobobodbbobgbogbboobuooboboooboobombobbDO
nO0D0000000000000000

0000000 (m=10, n=71)

goboooboobooooboboobbodb eb0oobooosbO0OUODOObOOObOOODOn
gbouogobogbbodgbooobuogbbouobbboobboobooboboobob
gbobodgbogbogbobobogbboobbboboboobooboobooboobooon
OcO0O00ODOOMODOODODOODODODOODODODODODOODODOODODODO
Doboboobooboobobboboobobbooobgoobobbobobooboobon
gobobodbbogobboobuobobooobbooobboobbooobboon
gobbooboobbooouoobboogoooooobobbbobbbbobodooooooonn
OOo000ob00obobOobOoboboobooooobobOobooobooobooOoIozeorong
gbobboogobbbouoooobobogo
gogogooboooobobobbotodoooobooooooooooobobobobobboougo
guobbobobbogbuodboobbobbooboooboobbobbooboobon
gobboboobobboodooooooobobbooboobbbbbbouodoooooooob
gbooboooooboboooobboboooon
0000000ooooooO0:000000 j00000000 (G,j)0000

Input. 000000 mall.in 0 10000020000 m,n(1<m,n=1000000000
goobooggbobooobboooboboboooobobnboddd nobboogn
gooodao
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20000020000 a,b(1<a,bs1000)0000000000000000O0ODODODOO
OOoooooobobobobodboboobbobobsbOobObDObOOOOnO

O0n»0 3000n+200)0000000000000000000O0O0OOO0O0Oj+2
00 (1 £, <n0i000,;,00000000000000000mO00O0 ¢14,---,6m,
(-1=¢;£100000000000000000000¢,;,=—1000000000 (4,5)0
0o0o000000000000000000000D000 (4,7) 0000000000 ¢,;00
gboooodo

ggbbbugoobbbouooobbbuoooouooobbbuooobobboooobn

Output. D000 00O0O0OOOOOOOODODODDOOODOOOOOOOOOOOOOODLDOOD
gboboogobobod

O

mall.in goog
7 6 184
32

26 29 84 15 -1 1 71
45 14 38 91 62 77 35
68 -1 -1 90 63 56 70
31 2 4 74 72 41 90
100 26 21 -1 44 72 60
71 4 40 93 48 -1 50

googoobboobogbbbobbbbotodoooooobbboobbbooxgo
gboobooooobboooobboboooonbo

26 29 84 15 X 1 71

45 14 38 91 62 7 35

68 X X 90 63 56 70

31 2 4 74 72 41 90

100 | 26 21 x 44 72 60

71 4 40 93 48 X 50

OO0 OO000OO00D0O00DO0O0DO0DOOb00C++0 ioestream OOOO00OOODOODO
O fscanf OO0 O O0OO0OOOODODO
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